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1 |deiEE 2.6E+0 2.6 4.9E+2 490.0 492.6
2 | BEHRR
3 | 5FER 1.4E+2 140.0 140.0
4 |EHRE 1.0E-1 0.1 1.4E+3 1,400.5 1,400.6
5 |FHEE 7.1E+3 7,100.0 7.100.0
6 [ILUZE
7 |EER 2.1E+1 21.0 3.0E+2 300.0 321.0
8 |ZWE 8.0E-1 0.8 1.2E+4 12,4245 12,4253
9 [HARE 1.6E+0 1.6 1.1E+4 10,777.7 10,779.3
10 [HEE 2 AE+3 2,352.1 2,352.1
11 |BEE 1.7E+1 17.4 71E+3 7,087.5 7.104.9
12 |FEER 3.3E+3 3,300.0 3.6E+3 3,583.8 6,883.8
13 |HREER 3.6E+2 360.0 360.0
14 |fRIE 5.8E+1 58.2 1.0E-1| 5.0E+3 5,029.4 5,087.6
15 |#RE 6.3E+3 6,300.0 6.4E+2 639.0 6,939.0
16 |SWE 1.0E-1 0.1 3.9E+2 390.5 390.6
17 |RBINE 2.3E+1 23.0 5.3E+2 525.0 548.0
18 |fEHE 4 5E+0 45 8.4E+2 839.5 844.0
19 |IWRE 1.7E+2 172.0 172.0
20 |REHR 1.0E+3 1,000.0 2.2E+2 216.0 1,216.0
21 |[IFRER 6.2E+0 6.2 4 6E+3 4582.0 45882
22 |EEE 1.7E+3 1,662.0 6.8E+3 6,779.0 8,441.0
23 |BHIE 2.2E+3| 4.0E+0 2,241.3 5.8E+4 57,917.4 60,158.7
24 |[ZEE 2.8E+1 27.7 6.7E+3 6,713.1 6,740.8
25 |HER 5.2E+0 5.2 2 9E+4 29,401.8 29,407.0
26 |RERAT 3.7E+1 37.0 1.0E+2 100.0 137.0
27 | KBRFF 2.2E+2 224.0 4.3E+3 4,338.0 4562.0
28 |EER 1.2E+2 124.0 6.9E+3 6,931.6 7.055.6
29 |ERE 2 2E+0 2.2 3.1E+2 310.0 3122
30 [fAFLE
31 |EmE
32 |BiRE 4 7E+2 470.0 470.0
33 |[EWLER 41E+3 4116.2 1.0E+4 10,156.2 14,2724
34 |ILER 2.2E+3 2,154.3 2.154.3
35 [wOg 1.7E+1 17.0 3.4E+5 341,380.3 3413973
36 |EER 1.6E+3 1,600.0 1,600.0
37 _|FBINER
38 |EBER 9.0E+2 900.0 900.0
39 |=BHER
40 [fEME 1.5E+2 148.1 4.2E+3 42220 43701
41 |#EER 1.7E+0 1.7 1.9E+2 188.0 189.7
42 |RBE
43 |RERIE 2.0E+4 20,000.0 2 5E+2 250.0 20,250.0
44 [ KHE 1.6E+2 160.0 3.6E+3 3,610.0 3,770.0
45 [EIBE 2.1E+3 2,083.0 2.083.0
46 |[BRIEBE 9.9E+0 9.9 9.9
47 [;hiBe

& [F 3.9E+4| 4.0E+0 39.501.9 1.0E-1] 5.4E+5 537,924.1 577.426.0
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